






































• box A contains 10 yellow balls and 30 red balls;

• box B contains 20 yellow balls and 20 red balls;



P (A|I) = P (B|I) = 1/2

P (Y |A, I) = 1/4; P (R|A, I) = 3/4



p0(L = A|I) = 1/2



p0(R) = P (R|L = A, I)p0(L = A, I)+P (R|L = B, I)p0(L = B, I) = 5/8 = 0.625

p0(Y ) = P (Y |L = A, I)p0(L = A, I)+P (Y |L = B, I)p0(L = B, I) = 3/8 = 0.375

p1(L = A|R, I) =
P (R|L = A, I)

p0(R)
p0(L = A|I) = 3/4

5/8
(1/2) = 3/5 = 0.6



p1(R) = P (R|L = A, I)p1(L = A, I) + P (R|B, I)p1(L = B, I) = 0.65

p1(Y ) = P (Y |L = A, I)p1(L = A, I) + P (Y |B, I)p1(L = B, I) = 0.35

p2(L = A|{R,R}, I) = P (R|L = A, I)

p1(R)
p1(L = A|R, I) = 0.692308



pn(Dn|{Dk}k=1,n−1, I) = P (Dn|L = A, I)pn−1(L = A|{Dk}k=1,n−1, I)

+ P (Dn|L = B, I)pn−1(L = B|{Dk}k=1,n−1, I)

pn(L = A|{Dk}k=1,n, I) =
P (Dn|L = A, I)

pn(Dn|{Dk}k=1,n−1, I)
pn−1(L = A|{Dk}k=1,n−1, I)

pn(L = B|{Dk}k=1,n, I) =
P (Dn|L = B, I)

pn(Dn|{Dk}k=1,n−1, I)
pn−1(L = B|{Dk}k=1,n−1, I)
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R, Y, R, R, Y, R, R, R, R, R, R, Y, R, R, R, R, Y, R, R, Y, R, Y, R, R, Y,

Y, R, R, Y, R, R, R, Y, R, R, Y, R, R, R, R, R, R, R, R, R, R, Y, Y, R, R
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p0(L = A|I) = p0(L = B|I) = 1/2,

p0(L = A|I) = 0.1; p0(L = B|I) = 0.9
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P (Y |NR, I) = (1−NR/N); P (R|NR, I) = NR/N

P (ANR
|D, I) =

P (D|ANR
, I)

∑
n P (D|An, I)P (An)

P (ANR
|I)



Y, R, Y, R, R, Y, Y, Y, Y, Y, Y, Y, R, Y, Y, R, Y, R, Y, Y, Y, R, Y, Y, R,

Y, Y, Y, Y, Y, Y, Y, Y, Y, R, Y, R, Y, Y, R, Y, Y, Y, Y, R, Y, R, R, R, Y,

R, Y, R, Y, Y, Y, R, Y, Y, R, Y, Y, Y, R, Y, Y, Y, Y, Y, Y, Y, Y, R, R, R,

Y, Y, Y, Y, Y, Y, Y, Y, Y, Y, R, R, Y, Y, Y, Y, Y, Y, Y, R, Y, Y, Y, Y, R.



NR = 24

NR = 14
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R, R, R, Y, R, R, Y, R, R, R, Y, Y, Y, R, R, Y, Y, Y, R, R, R, R, Y, Y, Y,

Y, Y, Y, Y, R, Y, Y, Y, R, Y, Y, R, R, R, R, R, Y, Y, Y, Y, Y, R, Y, Y, Y,

Y, Y, Y, R, Y, R, R, R, Y, Y, Y, R, R, R, R, Y, Y, Y, R, R, R, R, R, Y, Y.












































